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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES (HONGURS)
FINAL EXAMINATION: OCTOBER 2018

OPERATIONS MANAGEMENT —MCU2205

DURATION: THREE (03) HOURS

This paper contains Six questions and has Two pages.
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Answer any FIVE (05) questions.
Use of a non-programmable calculator is allowed.

Question 1

i.

ii.

1ii.

List down main components of the Conversion Process in the context of Operations
Management. (02 Marks)

Conversion Process, which is the heart of the Operations Management, can take variety

_ of forms. Explain five (05) types of conversion processes with appropriate examples.

(10 Marks)

Outcomes of scientific management are still applicable_in the field of Operations

Management. Describe four (04) such outcomes with appropriate examples.
(08 Marks)
{Total 20 Marks)

Question 2

i.

il.

iii.

Briefly explain four (04) types of traditional Operations Strategies. (04 Marks)

Customer participation in production process is a salient feature in services. Explain how
does this have an impact on service quality management? (06 Marks)

Describe five (05) main types of manufacturing systems with examples. (10 Marks)
(Total 20 Marks)

Question 3

1.

ii.

State two (02) key factors that you would consider before locating folioi}ving facilities.
a. A sugar refinery '
b. Five star hotel (04 Marks)

What are the factors that need to be considered when sélecting an appropriate layout for a
manufacturing organisation? {06 Marks)

{(P.T.0.)




iii. Describe the special characteristics of Fixed Position Layout. Give examples.

(06 Marks)
iv. What kind of a layout is appropriate for following 0rgamsat10ns‘7 Justify your answers.
a. A bank '
~ b. Garment factory (04 Marks)
(Total 20 Marks)
.
Question 4
i.  Explain three (03) techniques that can be used to ensure the quality of incoming material
to the production process. (09 Marks)
ii. Describe how Pareto Analysis can be used in process controlling in a manufacturing
organisation? (05 Marks)
~jii. Describe how would external failure cost occur in a manufacturing organisation. State
four (04) such circumstances. (06 Marks)
(Total 20 Marks)
Question 5 .. _

i.  Monthly demand of a certain electronic component is 1250 units. Currently, the company .
orders 300 units per order where the cost per order cost is Rs. 150. Purchase price of the

component is Rs. 6000/~ and, holding cost per unit per year is 15% of the purchase price.

If the company adapts to the Economic Order Quantity model for inve_ni;ory management,

how much cost it can reduce comparing to the present practice? (08 Marks)
ii. Explain two (02) main types of inventory management systems. Use appropriate
diagrams. (08 Marks)
iii. Describe the need and advantages of holdmg mventones for a manufacturing
organization. : (04 Marks)
(Total 20 Marks)
Question 6

Write short notes on any five (5) of the following topics.
i.  Cellular layout
ii.  Make to order production system
iii.  Seven types of wastes
iv.  Cost of quality
v.  Acceptance sampling
vi. Preventive and breakdown maintenance
(Total 20 Marks)
« Copyright Reserved .....
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